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A= JIEac|d A olaEER
M Y RAZHI(0laEER)
chel: olzieg| (el @e)
YT RN BY . O9(3) - HRAY - BES o &r A HIDS2
HEERR 32 500,0003x1&*12& 6,000
HYE R 45 400,000 <2+ 122 9,600
538 &¢ 400,000 «4H* 122 19,200
s &E 250,000 x 13« 122 39,000
s e 175,000 x17E 122 35,700
8= ¢ 165,000 ~8& *12& 15,840
9= & 165,000 ~26E 122 48,360
- elesy| 50,0002 x35E 122 21,000
Oz 1,726,335
-Jl2a 1,035,653
-d2=¢ 86,305
—IESE 21,360
-zu2eg 306,362
Azt 2Rad 213,155
Ot eg 93,207
- AShE 1,920
eSS 480
Ep, 1,440
—dI2gont=E 27,240
254 o1& 10,920
20~25¢ 5,280
- 15~204 4,800
- 10~154 1,440
-5~104 Dl 4,800
- RS A 140,000 ~28E + 122 47,040
—g& S0l 103,566
— Ot A| 29,689
=N 50,400
—-egsy| 16,800
204 AR AH 3,289,200 3,173,460 115,740
02 Mg 22| 3,289,200 3,173,460 115,740
ogern 3,250,440
— S XA 11,400
— 2 XAt 6,600
-2= 23,400
-3=2 102,000
—43 331,200
-53 798,000
-6=2 1,018,500
-72 746,460
-80=2 126,480
-SXARY 224 7,200
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AT J|EBRIA R P ==
M HAPAZH|(MAEE2)
el i Eg| 2 2l
424 BY . GA(S) - ARAY - BES A HIDE2
-ASRE 79,200
Og+x 9,300
—o 3,000
— &AL 6,300
OF k=1 29,460
-z 15,000
- Lz 12,600
-0z 1,860
IA2AHI(A2N) 233,236 233,236 0
= 233,236
101 @1A4H| 233,236 233,236 0
[ 233,236
01 &= 233,236 233,236 0
OAlZoE AT Al & S 22| 233,236
—6= 233,236
[ 233,236
22U (LSS AT R) 118,000 118,000 0
= 59,000
< 59,000
101 @124H| 118,000 118,000 0
[ 59,000
= 59,000
02 JIet& 2= 118,000 118,000 0
OAIZFS DA 118,000
-U= 118,000
= 59,000
= 59,000
A2IH(XXIZEAR3S]) 737,539 0 737,539
= 737,539
101 e124d| 737,539 0 737,539
= 737,539
01 2= 737,539 0 737,539
ool 356,404
= 366,404
O=ZH 344,121
= 344,121
Oxz=22=¢ 37,014
= 37,014
d2gHI(std=H =EPEH2te) 52,000 52,000 0
J| 52,000
101 212A4H| 52,000 52,000 0
Jl 52,000




A= JE2e|d A MEE2
M HYE2HHHI(0lAE SR
ol o2y (ol ®e)
AZ 2N - FB - OI(SH) - NRAY - BIES 0 &t A HimE==T
02 JIEtA S 52,000 52,000 0
OIIMERA 52,000
— 2EHIDIH 52,000
7=(ag) 52,000
| 52,000
olHERAHH|(S2+H =E2gSE2e) 57,800 0 57,800
| 57,800
101 eI24t| 57,800 0 57,800
| 57,800
02 JIEtA E 57,800 0 57,800
Os&=H =28 E2e| 57,800
| 57,800
=&l 436,622 441,562 24,940
J|1E23H| 436,622 441,562 24,940
201 Ler2 | 23,062 32,862 A9,800
01 At 22|l 23,062 32,862 A9,800
OJl=2+=EH| 9,412
OJ 2= 13,650
202 Ot 44,200 39,340 4,860
01 =LHO LI 44,200 39,340 4,860
OJ120| 44,200
204 MR AY| 369, 360 369, 360
01 MM HAY| 369,360 369,360
O XA 10,800
O XAt 20,160
OXXIZEAASPAAE 7,800
o, 2% 108,000
O4, & 222,600
NS (olargez) 5,179,7%6 25,669,729 A20,489,933
HEHAHXIE 5,179,7% 25,669,729 220,489,933
LI XI= 5,179,7% 25,669,729 220,489,933
705 G~ RcIS4E 5,179,7% 25,669,729 220,489,933
03 Al - SXIGNED IS0 &E 4,886,600 4,886,600 0
Q2009 XLWRA 2HZ X 4,886,600
04 Al - SXISHED | S0 =3 0| Ktate 293,196 439,74 A 146,598
02009 XLEWFA ZHZ XY 293,196
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H & 0l & AHS B Ml A

2023E = 208 LB D= 22| A
A= JIE2e|A
M TR &S5
Rl NN &S EER=E)
AR SA . O(BH) - HRAY - BAS ofl b dE= HDS2
d= - FA - 35 = 945 . 0l & =
PSE=d= gy 683,522,135 627,892,706 60,629,429
= 1,292,604
< 687,229,531
A= &= 1,764,753 1,981,839 N217,086
= 1,292,604
& 472,149
NN B 1,764,753 1,981,839 A217,086
= 1,292,604
= 472,149
NENE2H 470,149 747,428 N2T7,279
201 LBt AH| 86,550 77,000 9,550
01 AFR22t2lHl 73,500 70,600 2,900
OXNYAl HEd ME S ME 2930 30,000
QDML SSIHAES| &= 14,000
-=23HdEE M SX 7,000
-2 A2 M2 3% 7,000
OZAHE & JIEE2H ADIEE 15,000
OXNLASAH AL OHLY 6,000
ON2 == MY AE3E
2= 5,000
OXNZA 2H A&celol %= 1,000
ZESEMAEELHE AKE FHAS 2,500
03 HAIZHHI 13,050 6,400 6,650
O=SHAZH =l 6,300
ONEIR HAES| JNE| 4,500
OMI2I£=2 AR &Eig] A 2,250
202 04| 28,000 20,000 8,000
01 2L Y| 20,000 20,000 0
OXNYANY MEH A+ S A 10,000
OXIEAl HMIRTAF 2K 10,000
04 =HISt I 8,000 0 8,000
ONERS32& ids 8,000
203 R =&IH| 5,000 5,000
03 AIHF=RIHARE=KIH| 5,000 5,000
OXNZA HR=X S 5,000
204 2R 4= AH| 25,200 24,000 1,200
03 EHHRAH| 25,200 24,000 1,200
ONSREEZSR 25,200
303 EA= 30,500 29,000 1,500
01 ZAZ 30,500 29,000 1,500
OXNEA AN AT AlAS 19,000
ONEIR AF2UH EE X AlAS 2,000




A= Jl=Ee|A A NEEg2
M =M &5
Rl NN &S EER=E)
Al = £ o|(5 = dET =
A2 2A - B O9(3) - HIRAY - BES Ol &t S B2
OHM2+=2 HAREIL AT AlA2 8,000
OHM2+g A7 ZHUE Rt A= 1,500
306 =212 181,577 158,89%6 22,681
01 &= 181,577 158,8% 22,681
OXgNHRY &A= 181,577
308 XIXIEME0IH 112,809 30,464 82,345
11 S [2S0 e YA A A 112,809 30,464 82,345
OXHAICH XM= EEAAE FXI2e]
bl 32,782
OXHAMIH XIZNMEBEAAE F= S 2=H| 80,027
403 AXIEHMSA=01d 513 402,268 A401,755
02 I 2SO EHAHE X 2 E A I 513 402,268 A401,755
OXIMIH XIZHIBEZSAIAE R=(2EHH) 513
IHEFEIIAEZAI 1,294,604 1,234,411 60,193
= 1,292,604
< 2,000
201 el 2,000 0 2,000
= 1,000
< 1,000
01 At2teltl 2,000 0 2,000
OINEFEDIIASAl LEL2S Y| 2,000
= 1,000
[ 1,000
202 04l 2,000 0 2,000
= 1,000
< 1,000
01 =LH0i 2,000 0 2,000
ONEFEDIIASAl HRFE O] 2,000
= 1,000
< 1,000
308 AHAIEMSOIH 1,290,604 1,234,411 56,193
= 1,290,604
01 XN EES 1,290,604 1,234,411 56,198
ONLEFEDIAZAl =& 1,290,604
= 1,290,604
HEX 502,190,055 458,007,327 44,182,728
dulfs 1R 23,018,940 22,901,760 117,180
A2 Au2z3 ue 23,018,940 22,901,760 117,180
308 AHXIEMSOIH 23,018,940 22,901,760 117,180
2 d=u23 23,018,940 22,901,760 117,180
OZ+123 (20234 XAl &+2) 23,018,940
AT NEZ L JIEHHAETEY we 479,171,115 435,105,567 44,065,548
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NP IE BTN SN FEZHG YR
CERE- TR IR

o2l FEgltel =i (CHol: &S1)
AT 2A B BR(E) - HRAY - BES 0 &t A blnE2
Oustd el 2 AdH XA (US) 80,000
308 AtXIHMSOIH 700,200 177,400 522,800
11 B2 S0 &2 AI I 700,200 177,400 522,800
02030 X=E A2l =XE 100,200
OFY HYAzdst W= 600,000
FEH=LHNA 763,300 683,300 80,000
308 AXIHMSO0I& 763,300 683,300 80,000
11 S 2SI E &R E A 763,300 683,300 80,000
OMA #EZ2z2X 25X& 520,000
OFEdEgel 2+J1d XA 243,300
HEEHXA 180,000 180,000 0
308 AXIHMSOIH 180,000 180,000
11 S 2SO A X2 &AL 180,000 180,000
O &g gds T2 29 180,000
HE ANZe 2ILXIM K& 375,000 0 375,000
308 AXIHMISO0I& 375,000 0 375,000
11 SISO E AR PE A 375,000 0 375,000
OFYE 2430 2IHXIM X 375,000
ESMeNY dEAReE XHEXRA 451,680 1,256,324 A804,644
= 214,110
= 237,570
308 REXIHMSOIH 451,680 1,256,324 A804,644
s 214,110
= 237,570
11 SI2SOICHEHE AR LEALH] 451,680 1,256,324 A804,644
OSSHEY 20 HWEXR 451,680
s 214,110
& 237,570
FEdxtel I/ FEME A& 524,184 764,682 A240,498
s 251,352
= 272,832
308 REXISHMSOIH 524,184 764,682 A240,498
= 251,352
& 272,832
11 S 2SI &AL 524,184 764,682 A240,498
Oy Xel 018 qEUME K2 524,184
= 251,352
& 272,832
ABEY 3EgXkel X3 535,136 723,872 A 188,736
s 258,048
& 277,088
308 RXIHMSOIH 535,136 723,872 A 188,736




NP IE BTN SN FEZHG YR
CERE- TR IR

el FE2Ael = (CHol: &S1)
42N BY . GABH) - HRAY - BES ofl & A RS2

= 258,048
= 277,088

N S| 2SHUEE SN AS AN 535,136 723,872 N 188,736
OLABEY HAL K& 535,136
fas 258,048
& 277,088

SSOM Agots 2 ME 290,364 452,668 A162,304
= 17,792
= 172,572

307 2I12t01 & 290,364 452,668 162,304
= 17,792
= 172,572

02 QB HAHE 290,364 452,668 A162,304
OS=2M NGets Z2ME 290,364
= 17,792
= 172,572

S5 FHAN XEE 2X2 N 2,104,938 3,257,692 A1,152,754
= 1,026,856
& 1,078,082

308 AXIHSOIA 2,104,938 3,257,692 A1,152,754
= 1,026,856
= 1,078,082

1 S| 2 S0 UEHE & X 2AS A 2,104,938 3,257,692 21,152,754
OFs FHoM X5 LAl K& 2,104,938
= 1,026,856
= 1,078,082

= AYE FEMY FELRel NE 1,278,936 1,917,124 638,188
ras 621,252
& 657,684

308 AXIHS0IA 1,278,936 1,917,124 638,188
= 621,252
S 657,684

1 SISt AS A 1,278,936 1,917,124 A\638,188
O&= =1&3 RERY ALl X2 1,278,936
= 621,252
T 657,684

SNRI0NE FEgitel XA 782,718 911,784 129,006
= 376,488
= 406,230

308 AXIHSOIA 782,718 911,784 129,006
= 376,488
& 406,230

1 SISt HAS A 782,718 o, 784 129,066
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NP IE BTN SN FEZHG YR
CERE- TR IR

ol U2l = (CHol: &S1)
A2 2N BB O9(3H) - HRAY - BES Ofl by A =2

ORI dEdRtel XA 782,718
s 376,488
T 406,230

ADIEZSE MESA HEEZ01E WEXA 507,560 622,456 A 114,89%6
= 233,280
& 274,280

308 AXISHMSOIH 507,560 622,456 A 114,896
= 233,280
& 274,280

11 2| 2SHUEHE A X E ALY 507,560 622,456 114,896

OADIESHE M4 HEANMIBoHE IHEX

& 507,560
s 233,280
T 274,280

NeEF=cd yEadxiel ME(AIZ) 1,863,299 1,657,193 206,106
Fay 1,449,385
== 413,914

308 AXISHMSOIH 1,863,299 1,657,193 206,106
= 1,449,385
& 413,914

01 XX SHNBAEERZ 1,863,299 1,657,193 206,106
OXYEz=cs HALX2| AFE(AlIZ) 1,863,299
s 1,449,385
T 413,914

S5 D=4y FEdRe K& 4,702,928 4,285,000 417,928
Fay 2,242,944
= 2,459,984

308 AIXIHHMSOIH 4,702,928 4,285,000 417,928
= 2,242,944
& 2,459,984

11 I 2SI CHeZ A S EAIS I 4,702,928 4,285,000 417,928
O== Do dEd el K& 4,702,928
= 2,242,944
& 2,459,984

S5 J|=030|g 2™ 22l K& 4,859,610 4,285,000 574,610
s 2,242,625
= 2,616,985

308 AXISHHMSOIN 4,859,610 4,285,000 574,610
Fay 2,242,625
= 2,616,985

11 SI|2SHCHeZ AL EAIS I 4,859,610 4,285,000 574,610
O J=230Ig M2y LXtel XA 4,859,610
= 2,242,625
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NE-SESTEEIEIPN SA  BENBECD
H: HEZX - HENIE (SIIPES
ol QIFAEN S XA Q1A =it (SH9 H2)
A2 R4 BB O9(B) - IRAY - BAS 0fl o Ce = HIR=2
SEoTACSS T == B Ofl r =
| Osgxol nSAY X 0,000
IIERS 255 H A 20,000 22,500 £2,500
307 QI240| & 20,000 22,500 £2,500
11 ABI= XA EX 20,000 22,500 ~2,500
OJI=&S 25 XA Al K@ 20,000
OIR2H 12 T8 QIADNA AR 45,000 45,000 0
307 QI1240|& 45,000 45,000
11 ABI= XA B X 45,000 45,000
OISR IS S0 QIAHM At X2 45,000
=2 HBM 2= AIBI0I0HE2 39,500 39,4% 4
= 19,750
= 19,750
307 QI240| & 39,500 39,4% 4
= 19,750
= 19,750
11 ABI= XA EX 39,500 39,4% 4
OB HB4 2= AE/eI0E 2 X2 39,500
= 19,750
= 19,750
SISO S JIY28 T DRME 50,000 50,000 0
307 QI2+0| & 50,000 50,000
11 ABI = XA B X 50,000 50,000
OSHSO S JIYSE T8 ZRME 50,000
2QX B4 B4 U XY 21,508,250 14,422,050 7,084,200
= 10,640,000
= 10,866,250
EN N 55,250 566,350 A511,100
308 XHXIHHIS 0| & 55,250 566,350 A511,100
01 RHXISHIAE T2 55,250 566,350 A511,100
OEMYSAAZ 55,250
PN 2 6,000 6,700 ATO0
201 LBr2oH| 6,000 6,700 ATO0
01 AfR 22l 6,000 6,700 ATO0
OTAIR 222 JIZ 6,000
HOHL0| 22 X2 11,645,000 13,849,000 2,204,000
= 10,640,000
= 1,005,000
308 XHXICHHI S0 & 11,645,000 13,849,000 2,204,000
= 10,640,000
= 1,005,000
01 RHXISHIAS T2 11,645,000 13,849,000 2,204,000
OXpr-o|22 XY 11,645,000




CJE2e A A

D HEEX - MEM2S US)I8ERY
DA B8 S 245 XE (SH9 H2)
AR SA . O(BH) - HRAY - BAS ofl b dE= HDS2
d= - FA - 35 = 945 . 0l & =
= 10,640,000
= 1,005,000
SMF0E XA 9,800,000 9,800,000
308 AXIHHSOIA 9,800,000 9,800,000
01 AIXHMBAMEEZ 9,800,000 9,800,000
OSHEL S4R0Y XA 9,800,000
gty gl oA E 15,885,777 15,885,777
CH 15,885,777
SAEUHSIIZ2 ZLEXHEAE X3 15,885,777 15,885,777
CH 15,885,777
207 A IHEH] 300,000 300,000
CH 300,000
02 MARNEH] 300,000 300,000
Os= IS 28 2= 300,000
CH 300,000
403 XIXIHHS K20 A 15,585,777 15,585,777
CH 15,585,777
01 XX SHHAE2E X 15,585,777 15,585,777
OXNgAgUs) = Z2AXNJAHAEFAIY K& 15,585,777
CH 15,585,777
SO0t ¥ =zhsu=s A& 51,161,438 46,555,832 4,605,606
ME=JVPSONEE] 51,161,438 46,555,832 4,605,606
mE=I\FSImE=r=" 50,583,610 46,035,180 4,548,430
703 NEHIELEIHNEZ 50,583,610 46,035,180 4,548,430
(O R=PSPSES= 50,583,610 46,035,180 4,548,430
(@INE=J\ PSIMET=) 50,583,610
Nsstn 2an=s K& 495,228 520,652 NP5, 424
703 WEHISEIHNEE= 495,228 520,652 NP5, 424
01 HEEEZ 495,228 520,652 NP5, 424
Olnssn A= K& 495,228
K2R X2 (HEAIY) 32,600 32,600
703 NEHIEEIHNEZ 32,600 32,600
(R=PSPSE= 32,600 32,600
OXOIZAIRXN (N EHB) 32,600
| e HEZAY| X3 50,000 50,000
308 AXIHHSOIA 50,000 50,000
08 WEI|IZUHCHSIE X 50,000 50,000
OAlGTHEtn HHsAY| K=& 50,000
XNgolerA 2,798,318 710,000 2,088,318
X 240170 24 2,798,318 710,000 2,088,318
SSEUMEBHNSNNER 2 2,798,318 710,000 2,088,318
306 == 2,798,318 710,000 2,088,318
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SR IEEEIR, 2
MM BMSAAY|(HERHLLD)

=l Jl=3H| (Gt H2)
AR SA . O(BH) - HRAY - BAS ofl b dE= HDS2
d= - FA - 35 = 945 . 0l & =
01 2L Y| 35,700 31,890 3,810
OJ120Y| 35,700
NLES(HEAY ) 1,528,000 528,000 1,000,000
== DNES 1,528,000 528,000 1,000,000
LHEHH XI= 1,528,000 528,000 1,000,000
705 Oll=2 32| 24E 1,528,000 528,000 1,000,000
03 Al - EXISOHED |20 ==2 2S4S 1,000,000 0 1,000,000
OXYeD 2 sX2 34 1,000,000
04 Al - SXISOHED |20~ 0] AHAHEH 528,000 528,000 0
OXNSHLI |2 SXt2 Ol Rtatst 528,000
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)

T
A—— |

= prelal A
LENBI T

D SHAZAR2E

AT 2A B BR(E) - HRAY - BES 0 &t A blnE2
01 =WOdbI 1,800 1,800 0
OSHZAF 04H] 1,800
SHST AL ZAL 159,309 153,670 5,639
308 AXIHMSOI& 159,309 153,670 5,639
01 XN LAExS 159,309 153,670 5,639
OAFS M Z AL 159,309
SESTALSI T AL 284,805 274,508 10,297
201 L2 | 22,000 22,000 0
01 At 22|l 22,000 22,000 0
OgutAal~=ZH| 22,000
202 04d| 1,550 1,550
01 =W OdbI 1,550 1,550
OALZI = AL 4B 1,550
308 AHXIHMSOIH 261,255 250,958 10,297
01 AXIEHZLAExS 261,255 250,958 10,297
OAF2I ZA 261,255
THOHS & MUY S S A3 WH Lt 18,200 14,200 4,000
AHOHE - A3 E FA 18,200 14,200 4,000
TR0l Mot AHINE - HIHH 18,200 14,200 4,000
201 B2 AL| 12,000 8,000 4,000
01 ArR22elt| 8,000 8,000 0
O M & HIHY 9= 2Y 3,000
I AN F24 2 5,000
03 A2 G| 4,000 0 4,000
OFAMNS REEA H&3 4,000
202 04d| 1,500 1,500
01 =WOdbI 1,500 1,500
OFHINS, HIHE =& 1,500
203 R F&] 1,000 1,000
03 Al Z=ZIHSZ=XY| 1,000 1,000
OAHE & AHIHERI”E 29 1,000
303 Za= 3,700 3,700
01 Z&3 3,700 3,700
OFAMINE SSA Z4 3,700
TAAHNIE S& SIS 68,555 71,550 2,99
H=EXEE RSN 78 68,555 71,550 A2,9%
RN F 43,455 46,450 A2,995
201 Let2| 34,455 37,450 A2,995
01 Ar2eltl 12,000 12,500 A500
O HRFA 9,000
OZF&A =LIHEE 29 3,000
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